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SECTION-A
i) General Awareness

Grand Central Terminal, Parl Avenue,
New York Is the world's

1A) larges! rallway station
(B) highest railway station
(C) longest railway station
(D) none of the above

Galilec was an llalian astronomer
who

(A) developed the telescope
(B) discovered foursatellites of Jupiter

(C) discoverad that the movement of
pendulum producesa regular time
mdasurement

(D) all of the above

Deficiency of lron leads to
{(A) Ricket

(B} Malaria

(C) Dental Cavity

(D} Anasmia

Fire tempie is the place of worship of
which of the following religion ?

{A) Taoism

(B) Judaism

(C} Zoroastrianism (Parsi Religion)
(D} Shintoism

Which gas is used for the preparation
of Soda water 7

(A)  Oooygen

(B) Ammonia

(C) Hydrogen

(D) Carbon dioxide
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FRS stands for

(A) Fellow Research System

(B) Federation of Regulation Society
(C) Fellow of Royal Society

(D) None of the above

During Wortd War | Germany was
defeated in the Battle of Verdun on
the westem front and Romania
declared war on the sastam front in
the year

(A} 1914 AD

(B) 1915 AD

(C) 1916 AD

(D) 1917 AD

Fa-Hien was

(A} the first Buddhist pilgrim of China
to vigit India during the reign of
Chandragupta Vikramaditya

(B} the discoverar of Puerto Rico and

Jamalca

the first Buddhist pilgrim ol India

1o visit China

none of the above

(€)

(D)

How many times has Brazil won tha
Waorld Cup Football Championship 7
(A) Four timas

(B) Twica

({C) Five limes

(D} Once

In which year a resolution "Uniting for
Peace' was adopied by UN General
Assambly 7

(A) 1850 (B)
{C) 19865 (D)

1980
1880
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11. In big cities like Deihi, Kolkata, 16. The last Mahakumbh of the
Mumbai, Chennal police is headed 20™ Century was held at
by a (A) MNasik
(A) Commissioner of Police (B) Ujjain
(B) Inspector General of Police (C) Allahabad
: (C) Deputy Inspector General of (D) Haridwar
Paite 17, Whowrotethe line : * A thing of beauty
" (D) None of the above is a joy forever 7
12, Moderm Indo-Aryan languages are ) JonnReas:
based on an anclent language called (B) Fobert Browning
(B) Sanskri (D) William Wordsworth
(C}) Kannada 18. Inwhich year was the ‘All India Radio’
(O) Tamil setup’
(A) 1936
13. Lata Dinanath Mangeshkar received (B) 1927
Bharath Ratna in (©) 1947
(A} 2000 (D) 1950
(B) 2001
(C) 2002 12, From which date lhg rnnda! code of
(D) 2003 conduct is enforced in elections 7
(A} From the date of notification
14, The treaty of Srirangapatna was (B) From the last date of filling the
signed between Tipu Sulian and nomination
(&) Robert Clive (C) From the last date of withdrawal of

candidatures
(D) From the date of announcement of
election schedule by the Election

(B) Comwallis
{C) Dalhousie

(D) Warren Hastings Commission

15, The words ‘Satyameva Jayate 20. The newspaper which upheld the
inscribed below the base plate of nationalist cause during India’s
the emblem of India are taken from Etmgmg for freedom was
(A} Rigveda (A) The leader
(B} Satpath Brahmana {B) The Civil and Military Gazette
(C) Mundak Upanishad (C) Dawn
(D) Ramayana (D) The Statesman
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(A} 2000
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(B) 2001
(&) 2003
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ii) General Intelligence and Reasoning Ability

21. Play is to actor as concert is to 24. swimming

(A} symphony (A) pool

(B) musician (B} bathing sui

(©) piano (C) water

i (D) life jacket
(D) percussion
Directions for Q. No. 25 to 27 . Each

22, Here are some words translated problem consists of three statements.

from an artificial language.
lelibroon means yallow hat
plekafrofi means flowar garden

Based on the first two statements, the third
statement may be true, false or uncanain.

el 25. Spot is bigger than King and
frotimix means garden salad amsallerfian Sugar.
Which Bord could mean Ralph is smaller than Sugar and
" yellow flower ™7 bigger than Spot.
(A)  lelifroti King is blgger than Ralph.
(B) lelipleka IFthe first two smhryants are true,
(C) plekabro the third statement 15
ekabroon
i , (A) True
(5 iecien (B) Falss
Directions for Q. No. 23 and 24 : Each (C) Uncertain
guestion has an underinad word followed (D) Certain
by four answer choices. You will choose | o5 Middietown is north of Centerville.

the word that Is a necessary part of the
underlined word,

Centerville I1s sas!l of Penfield.,
Penfield iz northwest of Middletown.
Ifthe first two statements are true, the

23. shoe third statement is
(A) sole (A) True
(B) leather (B) Falsa
(C) laces (C) Uncertain
(0} walking (D) Certain
A-l
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i) Tt iR e Arfde A
e o whE E P g ga e | 24 T
HiiA-HuTiE 39 T d LA IE
(A) F=TET (B) dmidmE
(B) T (c) Wl
(C) o (D) THET*ER
(D) FETE

U el W ¥ e wiea) = e
THTE 2

lelibroon T B9 © yellow hat
plekafrot] %1 WAw 2 flower garden
frotimix 1 #e1d B garden salad
“yellow flowar" = fo70 7 &1 75
= ?

(&) letifroti

(B} Ilelipleka

(C) plekabroon

(D) frotibroon

i (w0, . 23 3 24) : T yw A o
twifen s 2 o 30F 9 9% el 3
AR | TEfE e w5 aETE v aTe

s g |

23

Rl

(A) =
(B) =m=l
(C) =4

(D) ===
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27. All spotted Gangles have long tails. Directions for Q. No. 30 and 31 : In each
E:;:;:ﬁ:ﬁﬂ SN aiayE: hire series, look for the degree and direction of

change between the numbers, In other

Long-tailed Gangles never have
short hair. words, do the numbers increase or
I the first two statemants are true, decrease, and by how much.
the third statament is
(A) True 30. Look at this serles : 544, 508, 474,
(B) False 439, ... What number should come
(C) Uncertain next 7
(D) Certain (A) 404
28. Arrange the following in @ meaningful (B) 414
Baguances | f{:} 420
ey Bh- 443
3. Word 31. Look at this series | 14, 28, 20, 40, 32,
4. Sentence B4, ... What number should come next 7
(A} 1,234 (A) 52
(B) 1,324
C) 2314 (B) 56
(@ 234, (C) 96
(D) 128

29, Arrange the following in a meaningtul
sequence | Direction for Q. No. 32 te 35 : Look

1. F
" Emgi carefully for the pattemn, and then choose
& agie i
4 which pair of numbers comes next.
3. Grasshopper
4, Snake 32, 13201526172319
% Grago (A) 2123
(A) 13524
(B) 34251 (B) 2021
(C) 53142 (C) 2017
(D} 53421 (D) 2527
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28.

29.

avfi fa=fen ese & o (o T & |
Bl |

wlt 4 e e % = wind o
T |

T e 3 A T B A, AT R |
(A} T=

B) 3

(C) s

(D) FfEa

ﬁﬁﬁﬂﬂfﬂiﬂiﬁwﬁl
1, =T

2. HW
3 T=s
4, =1

(A 1,2,3,. 4
{B) 1,3, 24
(Cy 2,3 1.4

(D) 2,341

e a1 el R 8w |
1, HgF
2. TEE
3. ==
Fi

—a
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fdm (v, %. 30 39 31) : 9 FEe |
el o AT o Aeed o A 3 e

{1 TR AT | T o, S wedl 41

et 2, 3 B a7
A
30, [T : 544, 508, 474, 439, ... 5 3
\

denFAEHE | ~
(A} 404
(B) 414
(C) 420

(D) 445

31, e ; 14, 28, 20, 40, 32, B4, ..
AT HET R IR T
(A) 52
(B) 56
(C) @8

(D) 128

g (v, %, 328 25); = ww A 2fay
sty gt s Hrel =y =R il | L“

32. 13291526172318 L/
(A) 2123
(B) 2021
(B} 2017
(O) 2527
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33. 1414 2626383850 37. MAD : JXA :: RUN: 7
(A} BO72 (A) ORK
(B) 5082 (B} ©sQ
© 5072 €} PRJ
(D) 6262 Woui el

38. acE:bdF:fhd:?

34, 343026 22181410
[A) gik
A
(A) BE B ghk
=) &4 (C) diH
(Ch 148 (D) hi
D) 2
s 39. Dda:add:Rrb:?
d3. 796612148617 {A} BBr
(A} 1986 (8) bRR
(B) 619 (&) “ARA
(D7 BrR
{C} 1922
(D) 2066 Direction for Q. No. 40 : Choose thal set

of numbers from the four alternative sets,

35. Which word does NOT belong with that is similar to the given set.
the others 7
40. (B1,77,69)
{A) strest
() (56,52, 44)
(B) freeway (B} (84,81,53)
(Q)  interstate (€} (75,71, 60)

(0} expressway

-12-

(D) 1{92.88, 78)
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A

14 14 26 26 38 38 50
(A) 8072
(B) 5062
(C) 5072

(D) 82862

3430 26 221814 10
(A) B8

(B) 64

() 148 %

(D) 62

TO6612146617
{A}) 19868
(B) 6619
(C) 1822

(D) 208686

FhaT e 3 E R R 7
(A) #EH

(B) HW

(C) *Awir=a

(D)
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37. MAD :JXA: RUN:?

(A) ORK
(8) 0SQ
(C) PRJ
(D) UXQ

38. acE:bdF
(A) giK
(B) ghK
(C) dfH
(L) thi

39. Dda: add
(A) BBr
(B) bRR
(C) RAA

(D) BrR

Frém (v =. 40)

oind o ?

v RArb:?

: o T e e AT R

we wE, e st | =9 e |

40. (B1,77,89)
(A] (56,52, 44)

(B} (B4, 61,53

(C) (75,71, 60)

(B} (82,88, 79)
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iii} Arithmetical and Numerical Ability

41.

The diagonal of a rectangle is
J41 cmandits area ls 20 sq. em. The

_ perimater of the rectangle must be

42

43.

As

(A} 2cm (B 18cm
(C) 20cm (D) 41em
A car owner buys petrol at Bs.7.50,

Rs. 8 and Rs. 8.50 per litre for three
successive years. What approximately
is the average cost per litre of peirol
if he spends Rs. 4,000 each year 7
{A) Rs.7.08 (B) Rs.8

(C) Rs.850 (D) Rs.®

Alberfinvested an amount of

Hs. 8,000 in a fxed deposit schems
for 2 years at compound interest
rate 5 p.c.p.a. How much amount
will Alpert get on maturity of the
fixed deposit 7

{A) Rs. 8800

(B} Rs. 8620

{C) Rs, 8820

(D) None of these

From a point P on a level ground, the
angle of alevation of the top lower s
308, If the tower is 100 m high, the
distance of point P from the foot of the
lower is

(A) 148m (BY 156m
Gy 173m (D) 200m
The sum of first 45 natural numbers is
(A) 1035 By 1280

(Cy 2070 (D} 2140
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A student multiplied a number by 3/5
instead of 5/3, What is the percentage
afror in the calculation

(A} 35% (B} 44%

(C) B4% (D) 54%

A box contains 2 white balls, 3 black
halls and 4 red balls. In how many
ways can 3 balls be drawn from the
box, if at least one black ball is to be
included in the draw ?

(A) 32
(C) &4

(B) 48
(D) 96

Two pipes A and B can fill a tank in
20 and 30 minuies respectively. If
both the pipes are used together, then
how long will it tske 1a fill the tank 7
(A) 12 min (B) 15 min
{C) 25 min (D) 50 min
From a pack of 52 cards, two cards

are drawn together at random. What!
is the probability of both the cards

being kings 7
{A) 1/15 (B) 25/57
(C) 35256 (D} 1221

At present, the ratio between the ages
of Arun and Deepak is 4 : 3. After
6 years, Arun's age will ba 26 years.

What is the age of Deepak at present 7
(A) 1Byears (B 15years
{C) 19 and half (D) 21 years

The least number which should be
arlded to 2497 so that the sum is
exactly divisible by 5, 6, 4 and 3 is

{A) 3 (B) 13
(C) 23 D)y 33
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i) TERmTOTH T U wETe T
o A e VA1 Ao dain | 46 T N O He w5/ % e
S S cp i E ot B 30 A 3/5 4 1o e | fewmE o e vl
gl o1 ere #if 7
i ‘ ’ (A) 35% (B} 44%
(4) 9. HI, (B) 184, H, (C) B4% (D} 54%
€ 2083 (O) S1HA | g7 v 2, 3w s 4T
Lo st FRt It e a3 TRawd
UEF S TR o 36T 7 1 e 7.50°%., Fwret o1 wa Tl w0 =9 @ =
B %. 3 8.50 %, Wia o2t ot & @i & | TEF: TRTeTT 112 STIE B =iy ¢
af? 7w ufi & 4,000 5. @S F@ R, A A 32 (B) 48
el e o e st T e 7 () ‘64 (O} 96
(A} 7.98%. (B) 8 %, 48, A T B = WY UF T F FE,
(C) B50% D) 9 %. 20 =t 30 ot & vy e & | i 2
' WTEY W1 1 Wl S # o 7 2o i g
AT 8,000 ®. WA 6 Ireen F 2 EnEIELe
o 3 fo, 5 o sy o g W izkwe By 167
R = R (C) 25T (D) 5019=%
wH AT ? | s aE s
i s - Fate e e v e 7 43, EEHEEH: ¥ O # 2 T o T o
(A} 8,600% (B) B,620%. “‘?;T; .'WE"*'?' ;fﬁ'wwgﬁ
. C) 35/256 D) /221
P formg # 1 T T A, 2 i =
FEr s IR F A 3078 | SR a T 50, ﬁﬁmﬁﬁﬁﬁ%?ﬂ!ﬂﬂaﬂw
el | =2 437 | B8 T % 1% 357 I I 26
FE1 100 eA T E AP bl gl e bl 3
fEsamfight ;
! (A) 18T (B) 1539
(A} 149 =7, (B) 158 1. () 19',7d o) 21
(C) 173 =, (D) 200 di. B ) L.
51. 2497 9% FA9H H= HEH H A5
TRe 45 FTEE gee S a2 5, 6, 4 AW 38 YU 7R H W fEm
HE0 |
(A) 1035 (B 1280 A& 3 @ 13
(C) 2070 (D) 2140 (C) 23 (0) 33
=15
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52. In a two-digit, if it is known that its 57. Adishonest milkman professes to sell
unit's digit exceeds its ten's digit by 2 hig milk at cos! price but he mixes it
and that the product of the given with water and thereby gains 25%.
number and the sum of its digits is The percentage of water in the
. equal to 144, then the number is mixture is
(A) 24 (B) 28 (A) 4% (B) 15%
(C) 42 (D) 46 (C) 20% (O} 25%
53. A train 80O metres long is running at 58. A man on tour travels first 160 km at
a speed of 78 km/hr. If it crosses a 64 km/hr and the next 160 km at
tunnel in 1 minute, then the length of 80 km/hr. The average speed for the
the tunnel (in maters) is first 320 km of the tour is
(A) 130 (B) 260 (A) 35.55 ke
(C) 500 (D) 540 i iasakitd
(C) 71.11 kmv'hr
54. On selling 17 balls at Rs. 720, there (D) 71 kmhhr
I3-a | efqual to the cost price of
5 balls. The cost price of a ball is 59. A machine P can print one lakh books
() 45 (B) 50 in & hours, machine Q can print the
©) 55 D) 60 same nurri:ne_r ol books in 10 hours
while machine R can print tham
55, The sum of three numbers is 98. i the In 12 hours. Ali the machines are
ratio of the first to second s 2 : 3 and SHned a9 AM. whils machine Pls
that of the second to third is 5 8, then ClospeLal 1AM and the rsmainiog
6 36650d runbar s ' twa machines complete work.
A 20 B) 30 Appruximl_shr at what time will the
work (lo print one lakh books) be
- (C) 48 (D) 58 finkshed 7
5 56. A man took loan from a bank at the TR0 AM,
. rate of 12% p.a. simple interest, After (B} 12 noon
P 3 years he had to pay Re. 5,400 (C) 1230 P.M.
) interest only for the period. The (D) 1:00P.M,
E:‘;TPEI QpEeUm barowes By him 80. The curved surface areaofa
(A) Rs.2.000 qulnclric_al pillar is 264 m? and its
e volurme is 924 m3. Find the ratio of
(B) Rs. 10,000 its diameter to its height.
{':JI Rs. 15.000 ':A}' 97 (B) 7:3
(D} Rs. 20,000 :G} 67 tD} 78
A
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B2, T, &Y SR IaTE] deE H an we €
iz aTeT 339 =9 9T A E 2 Arfi @
¥ 30 wEn 3 I I & g
T 144 FIATE | 98 e R
(A) 24 (B) 26
(C) 42 (D) 46

a7

53. 800 Hiet T il uE o 78 T ./
T2 9 8 e 8 | 9% U e F

1 {2 O TR AT R | 35 T ) T
(efrzrd) B
(4) 130

(C) 500

58.

(B) 360
(D) 540

17 1z 720 5. % a1 & 5 72 Fr v
e T e e § | ww e e e
EALE
(A} 45
(G) 53

(B} 50 58.

(b} 60

A1 HEa] o WIS 908 & | 9 wEel ain
T EE 2 ¢ 3 S S el af A
HIE 5 ¢ B 3T H & 1 70 v
(A} 20 {(B) 30

(C) 48 (D) 58

TF Sian 12% HEH 5 =36 21 Y
TFAEAET R A R AR
5,400 %, 96 =99 % 1 0 7 35
# o gFr o R AR S T R
{A) 2,000%.

(B) 10,0007,

(C] 15,0007

(D) 20,000%,

o6.

=17-
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e ST FEATE S HA W gy
e o A1 AT 6 | FEE d g
i Zrer B 36 25% ST A R |

30 i § g s ufsm @
(A) 4% (B) 15%
(C) 20% (D) 25%

TR St T U o e et 160 fE
B4 . ot / we aih smet 160 . T,
ao . ot/ sar g e & | vEd
20 5. i, awr ) ol i 8

(A) 35.55%%. 0. /921

(B) 38fE 1. /g9

{C) 71.11%. 4. /93

(o) 715 a5

P w3 8 921 8 v wE e Higa 52
wedl 7, Q wafi7 391 # A 10 52
#, =4 R Aeie 3 12 927 | ufin = |
adl & | 7t o3t gaw o = e '
W6 | i P S e 11 4
iR ST B 3T 9 g Et i e
il # | o e 59 = (T T
TeraTT =R HfEA A ) T B 7

(A) 11:30AM. (B) 128mw
{C) 12:30P.M. (D) 1:00P.M,

TF IER B F] FE Han S96
264 T2 2 3N IHFT TAwT 924 HiT |
THF T F I6F FamdH ST T

T | ,
Ay 3.7 B 7:3 .
C) B:7 D) 7:8 '
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iv) Test of Language : Hindl
T SiieT : et

i a0 affe 70 s S umn i ggar =t |

Fererferfiam ot o v e i |
61. T & EREEaEe

(a) 2l (B) AT

(C) =mft (D) SR
62. ‘THTE W YhEaTHE]

(A) T (B) FEm

(C) Fa=i (D)
g3, FEC FITEAmER 7

(a) Tm 8y =

€ =g (D) Fe
B4, IEEIYEH H Y 91

(A) W= (B) =

(c) Fma D) s
65, T 8 e T - A

(A) TeRagadl (B) TE=e

(C) =g (D) ™
68, (5 AT ] 95 W |

(A} FITEAE

(B) TdEaE

(C) FomaaR |

(D) Far=EEEmIR |

&7, =iteEl W g st

(A) TEEm (B) HrETEE
(C) ST (D} WM

88, I + @ & |

(A} STE (B) rpd
(C) STgEmit (D) EE

A

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

89.

0.

1.

T2

fif ®

e + 35 = W3

(A) (B) TN
(©) dreEm (D) @ HfY
m+m:3ﬂ.‘|ﬁﬂ

(A) = EMG (B) THME
(C) Faw™ (D) AT
Pty 3 T AR
HEABAIE |

(&) SRR (B) e =
(C) = 0y fem
Tu =] L 6 TG 8,
saf 39 1w & T v fam
ST SE R | = e R
fire =rmed & Tor &1 anfores (i) e
i v = v v E T ()
TEEgEEa s HeEEEE
FITIH |

(A) i, T

(B) fem, snEnienEa

(C) =i, SEmEEE

0y Fom, Frem

wig fEm A A 2 7

(A) R (8) snifgEd
() T (D) WEAg
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74, v w5 Al e 76. ey 3 Frafll =1 o8 wwrEe @
(A) e F “fammers % whm o & e ==
(B) i & fem e e it 2, Wit
(C) M+ H T (A) Ty & awr 2 o8 J |
(D) =T (B) Teremera % afam o F ger mn
75, ‘weEr wEOE R (C) Teremerat & wrean & oyt =1 fowmen
() wfis B) i@ e |
(C) &Fam (D) e (D) Waﬁaﬁwﬁmﬁaﬂﬁ
76 — B0 ; 3AUfEA T Sl v |
i srEm 1 earyds: 18 o 368 77, a8 e s e % st v afea
Taifea vt v oy mEagReedm Iwm a8 B &, i T aw
wet fame w1 Faa wt | (A) e Fepemedt gy e # |
Freerg % Sifm o § o e 7 AW (B) =% T ORI FHan] A9 o |
Wﬁﬁﬁmﬁﬁwi{ (C) WEfEFeT Toerea 2 |
UF ST U E] A |l wA Eh i 1
e e T, e e Rt o
SRt 32 AT | ThEYT I T R 38 #H 78. FEw = atton = () sia R e
o1 AT 1R A1 AT e | v afEe feremfi
RIS T A 6 | 3 i (A) el T w1 s AR
o | Tereme = 3 s e o (B) = fetv awrd=fi =1 ggn s 4|
#1 | &R 719 F2 1 4] A1 50 34 7 47 H of (C) =TS = TEF FHI Terd WEAT |
I T i 9, @ 38 35 afeen w1 T (D) T8 T o s A 2 |
] O ST 7 3E AT (S i) S
% 37fom wee =1 30 Tou foem &t I 3 1| 79, wEdEd faadi e E T Fm fioear
g1 A 21 H e et 36 Sl s ite i
A g o o e s e o 7 sverrfie (A) Tl (B) uAl ‘,
Faam fa, e’ | s e A (C) firem (D) ifvE o -
et e 8 1 3wl gl F 2 1 3 S &,
eE s mErFE e | T I A BO. STATYH A WEATHE § W] H W
TR ATH TR B, HEERE N shveE w5 | v e | o o e g aren
30 &9 2rer ar T el 3 wd == = (A) I FEEFS &
AR T e T e (B) T SETS
YeaTe o HTEeT R | (e A R, (C) Teremedl Fvm
B 3T AT T WA | (D) T8 3T | ST &
A -1g=
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v) Test of Language : English

WTaT iTErOT ¢ ST
81. Change the Passive : The invigilator Direction for Q. No. 86 and 87 :
was reading out the instructions. Complete the statement.
(A) The instructions were read by the
invigilator. 86. The manager would like you to help
(B) The instructions wara being read Dhiraj, means ......
out by the invigilator. (A) the manager would fike you if you

(C) The instructions had been read out

help Dhiraj
by the invigilator. st .
(D) The instructions had been raad by (8) e managor desies you o help
the invigitator, Dhiraj
{C) the manager likes you because
82, Eelept the pair which has the same you halp Dhiraj
relationship. (D) Dhiraj expects the manager to tell
DISTANCE : MILE you o help him
(A quuili : litre
(B] bushel:com 87. QOwing 1o the acute power shortage,
{C) weight : scale the people of our locality have
D) fame : lelevision decided 10

(A) dispense with othar non-

Direction for G. No. 83 and 84 : Choosa conventional enargy sources

the word which is the exact OPPOSITE of

the given words. (B) resortfoabundant use of electncity
for llumination
I 63. Evasive (C) explore other avenues for utilising
- (A} Free (B) Honest the excess power
| (C). Libersl (D) Frank (D) resor touse of electricity anly whien
it Is inevifable

84. Gregarious

(A) Antisocial (B} Glorious 88, Find the correctly spelt words.
(C) Horrendous (D) Similar (A) Itinarery
85. Direct/indiract spesch : She said that (B) Itinerary
her brother was getting married (C} ltenary
{A) She said, "Her brother is gatting (D) Itinarary
. marned.”
(B) She told, "Har brother Is getting | 89, Find the comactly spelt words
| married. (A) Survaillance
(C) She said, "My brother is gelling (B) Surveillance
married.”

| (D) She said, "My brather was getting (G} Sunvellance
| married." (D) Surveilance

-20-
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B0. To pick holes
(A} Te find some reason o quarrel
(B) To destroy something
(C) To criticise somecne
(D) Tocut some part of an item

Direction for Q. No. 91 and 92 : One Word
Substitubion.

91. One who eats evarything
(A} Omnivorous
(B) Omnisciant
(G) Irrestible
(D) Insoivent

g92. The cusiom or practice of having
more than one husband at same tima

(A) Polygyny
(B8] Polyphor
(C) Polyandry

(D} Polychromy

3. Orderthe words : People
P : at his dispensary
Q : went to him
R : of all professions
S 1 for madicineg and treatmeant

Tha proper sequence shouid ba
(A) QPRS (B) RPLS
(C} ROSP (D) QRPS

Direction for Q. No. 84 and 95 : |denlify
the error.

84, Solve as per the direction given
above,
(A} Do the rases in your garden smell

(B) More Sweetly
(C) than thoseinours 7
(D} Noerror |

Direction for Q. No. 96 and 97 ! In the

JDD-18/PGT-CHEM/X-14

above,

{A) Block of Residential Hats
(B) are coming up

(C) nearour house.

(D) No eror

following question choose the word which
best expressas the meaning of the given

ward.

96,

g7.

98.

99,

100,

RESCUE

(A} Command
(B) Help

(C) Defence
(0) Safaty

ATTEMFT
(A} Serve (B) Explore
{C) Try (D) Explain

The paths of glory lead 1o
the grave.

(A} Straight (B} Bul
(G} In (D) Directly

The telaphone _ spverml imeas
bafore | answered it

{A) was ringing
(B) has rung
(C) had rung
(D)  wiould ring

He passed the examination in the first
class because ha

{A) was hard working for i
(B) worked hardly tor it
{C) had worked hard far it
(D) was working hard for il
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101.

102

103.

104.

SECTION-B

JDD-18/PGT-CHEM/ X~

Post Specific Subject-Related Questions

Chlorobenzene, on reacting with
sodamide in liquid ammonia yields
aniline as the major product. This
conversion is considared to be

(A) Mucleophilic substitution process
(B} Elimination-addition process

(C) Single electron transfar process
(D) Addition-elimination reaction

Amongst the compounds, benzene (1),
anisola (1) and chlorobenzens (I},
the relative reactivity towards nitronium
lon is

(A) lg=l<Ill
(C) M<ll<]

l<lll <l
M=l=I

(B)
(D)

Consider the following reaction :
RCOOAQ B4 | RBr+AgBr+CO,,
The name of the reaction and the
intermadiate Tormed In the reaction,
respactively are

(&) Hunsdiecker, free radical

(B) Hell-Voihard-Zelinsky, carbanion
({C) Sandmeyer, free radical

{0} Wolt, carbene

An aromalic compound {X) of
molecular formula CoH,NO liberates
ammonia on bolling with sodium
hydroxide solution. When it is reactad
with bromine in presence of sodium
hydroxide solution, the product
formed will be

(A} Benzonitrle
(B) Aniline

(C) Benzamide
{D) Benzoic acid

Latest Sarkari Jobs, Govt Exam Results,
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105.

106.

107,

Which of the following statemenls
about 'vegeiable ail' is incorrect 7

(A} Unsaturation in oils tends to
increase its melling point and
also lends to make it a solid at
room tempearatura

Qils are carboxyiic esters derived
from a single alcohol, called
glycerol

Oils are widely usad for the
production of soap
Hydregenation of oils slows down
the ocourrence of rancidity

(B}

(C)

(D)

When ethy] benzoate is refiuxed with
dilute sodium hydroxide, it undergoes
hydrolysis. The mechaniem involves
(&) Acyl oxygen bond cleavage,
unimolecular

Alkyl oxygen bond cleavage,
unimelecular

Acyl oxygen bond cleavage,
bimolecutar

Alky! oxygen bond cleavage,
bimolacular

(B

<)

&)

The 'H NMRA spectrum of the
compound : CHLO CH{BriCH,(Br)
would show

(A} athree proton doublet, one proton
singlat and & two proton doublet
a three proton singletl; one proton
singlet and a two praton doublet
a three proton triplet, one proton
triplet and a two proton triplet

a three proton singlet, ona proton
triplet and & two proton doublet

(B)
(£)

(D}
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102.

103.

104,
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oz e e - dandt s

za amifan @ 7 HEmnE 4@
a1 s | siffem v
T TS TRERT 8 | T S R
T T R

(A) TR T e
(B) Frsmm-aitads uken

(C) TEFHTS SRR T giE
(D)l - Fremm afem

A (1), vREE (1) S EEE (1)
ST o, A2 3T h 37w
e &
(B) l<l<lll %
(C) k<l <l

fr= sifirfern =1 =rm | 2w
RCOOAg _ Bt | RBr + AgBr + CO,
e 1 A9 T A4 T A w

(A) TAFER, OF 15T _
(B) EE-aTTErE-lerh!, HE e

105.

By I<lll<N
oy Wel<h

108,

(C) W=t I s
(D) FiH, FEH
sfE §3 C,H,NO =1 v gifam | 107
i () FraTEas egEEE F A
¥ FATA I © 7| 98 ST O
| 79 78 Fftn PoERE ¥ FEW
F | R # s we E ae
TEITE |
(A) ST
(B) vl
(C) =W=THREE
(D) =aEE
23

(B)

‘gl dm S A o = A w e
FE AR T

(A) T H TeE SEGE TR TS
F2rl & 3 39 T e §o=A
GEEAGUACLEZGI

TN e WA STe1 URHTT 3T TE T i
Tt & T o SeeA o ST 59

B zvam e am

et w1 TR T AT

T AT E

()

2

o= | Gy PEEiEans 3 e
AAETUZ 31 S3TETE TR = R, T I
A -FTTEA BT B | T A E

(A} Ul STEE 9 HEea, URiEE
(B) Ieiet SATTa 5 (950,

(C) e S ey e
FEIIEET
(D) STeaeT AT 54 fage,
EEILIEES
CH40 CHI(Br)CH,(Br) 31T =1 |
'"H NMR Ted (9ris) fEaeE m ?
(A) HA-TERT ST, T~ v 37 A
=T S i
(B) A-HIEN T, T~ e
HAWBI-HEmA1 A
(C) H-Wa T, - i
wr-ieH! Ft
(D) AT U, T -HEr 3] @
B-WEHT IR
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108. An arcmatic compound with molecular

111,

As

108.

110,

formula CzHZO displays a strong and
sharp peak near 1690 o™ in its
FTIR spactrum. Then, its most
probabie structure would be

{A) 3-HO-CgH,CH =CH,

(B) CzH;COCH,

(C) 4-HO-CgHy,—CH=CH,
(D) 2-HO-CzH;—CH =EH§

An organic compound ‘A’ doss not
show absorption peaks in the region
1600~ 1800 ¢~ but shows a strong
paak at 1070 car! mits FTIR spectrum.
lts *H NMR spectrum has two multiplets
nthersboof1:1atd 1.8and 3 3.7, The
structure of the compound ‘A’ will be

(A) HQ-CH,—CH=CH - CH,0H
®
© O

{0} HO-CH;-CH,-OH

The base strangths of

4 —CH;— CgH, — NH, (1),

4— CH,0— Gett, ~ Nl (1),

4~ O N—CgzH, — NH, (lll) and
4~Cl-CzH, —NH, :ij are in the
order of

(A) I=sll=IV=I

(B} ===l

({C} I=ll=l=IV

(D) H=l=lll=1V

Which ona of the following phenols Is
mare likely to be soluble in agueous
sodium bicarbonate solution 7

(A} 2, 4-Dihydroxy acelophencne
(B} 2,4, 6-Tricyanophsnol

(L) 4&-Cyanophenaol

(D} 3, 4-Dicyanophenol

JDD-18/PGT-CHEM/X-14%

112.  Which one of the following compounds

113,

114,

115
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wauld show the longest &, 7
M, NO

(Al g (B) [j:j'
W,
() Egiw' (D) E’F'

The reagent used for the reduction
CH4CH = CH -~ CHO — CH,CH =
CH - CH,OH, is

(A) HailPt

(B) [(CH3),CHOJ,AI

{C) Zn-Hg/HCI

(D) NaBH,

When n-butyl bromide is heated with
anhydrous aluminium chloride, it
isomerizes to 2-bromebutane. This
raaction involvas the formaltion of

(A} & primary butyl carbocation

(B) primary butyl and secondary butyl
carbocations

(C) asecondary butyl carbocation
(D) asecondary butyl free radical

Michael reaction is an example of

(A) a nucleophilic addition to an a,
[i = unsaturated ketone, under
base catalysis

(B) a reaction proceeding via a cyclic
transition slate, in the presence of
light

(C) a reaction involving an
intramaolecular rearrangement,
undear acid catalysis

(D) an electrophilic addition to an
olefinic bond, through a frans
faction




e —

00 00 0

108, CgHyO :Tvifey FaEen s Hnfu
A S FTIR o & 1890 o'
T T 31 = d R e
TH W 3R S gre e Bt
(A) 3-HO-CgH,CH=CH,
(B) C HLCOCH,
(C} 4—HO-CgH,~CH=CH,
(D) 2~HO-CgH,~CH=CH,

108. gm;ﬁréﬁa;ﬁﬁm'A' 1600 - 1800 cm!
B STy <y o = winr e e
w30 FTIR ¥528 3 1070 om!
T A = i R |39 'HNMA
TgA T § 180 § 37 1 1 ST
5 =1 =giera 2 Wi A de el
() HO—CH, - CH = CH - CH,OH

®
)

(D) HO-CH, - CH,—OH

110, QRFH TG

4~ G0~ &l MR

~ CHO ~CH, — .
4-DE.N—CEﬂ4?-NH2fIII}3f[{ )
4 - Ci - CgH, — NH, (V) 58 9ot 5 2
(A) Isl>1V>in

B) l=lsVsIll

(C) I=l=H=IV

(DY l=l=1l=IV

111, F= 8 9 Fi98 S sfg gz
ST ZT0T 8 e T 7
(A) 2, 4-EEEEeiE vaanat
(B) 2, 4, B-2EHEATFTS
(C) 4-~TraATTeT
(D) 3, 4-ZTEHEH Fete

Ax
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113.

114,

115,
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o T e i s e
faarm 7

o,
(A E ®)
]

(©) &Q (©) EH?'

= % e, s foa sy #
CH4CH = CH — CHO - CH,CH =
CH- CH,OH

() Hy/Pt

(B) [{CH,),CHOJLAI

(C) Zn-Hg/HCI

(D) NaBH,

=
-

= o

0,

N~ S HAIEE, TR g

W%mm o = B, 79 9w

2-THILE 7 THEAE B 6 2 1 =

sFE Y e

(A} T T e wETE

(B) el sgere oin fdles s
AT

(C) ue Tarrors were Fmitam
(D) v e wgee g gore

T 3 TWieR TH T AT £
(A) & IENTIH, o T I

ﬂﬁ%ﬁﬁﬂm [~

(B} IR o et o =i v iy
= gr rfifE war

(C) =/ 3o & w1 W
REEIRIEEE T e

(D) %A & g disiehE o §
S T ThicTe o fHern




1186.

17,

118,

The isomers, «-D Glucose and (-D
Glucose are termed as
-{A) Enantiomers
(B) Epimers
(G} Anomers
(D) Diastereomers

Which of the following statemeanls are
comect with respect to ‘conformational
isomers’ 7
a. They are interconvertible by
rotation about single bond
The enargy bamer separating
#em iz less than & kJ/mole
They are best represented by
means of Fischar Projection
foarmuiae
They can be separated by easy
chemical means
Choosa the correct answar from the
codes given below .
(A} aandb
(B) a, bandc
(G) bandc
(D} a,candd

d.

Sulphonation of benzena differs tram
its other electrophilic substitution
reactions in that the reaction

(A} requires the presence of a Lawis
acid as calalyst

takes place with explosive
viclence with suffocating gas
evolution

requires elevated temperature and
as well as high pressura

(]

()

118,

120.

(D) = ravarsibla

121.

ki,

JOD-18/PGT-CHEM/X-14

Salicylic acld is obtained from phenat
by. reacting it with

(A} €O, and hot alkali under pressure,
followed by hydrolysis

CCl, in alkali, followed by
hydrolysis

CHCI; in alkali followed by
hydrolysis

any of the mathods indicated in
(A), (B)and (C)

(B)
(C)

(D)

in paptida synthesis,
2, 4- dinitrofluorobenzene is
genarally used for the purpose of
(A} making amino acids insoluble in
waler and thus making them
readily crystallizable
protection of carboxylic group of
amino acids through electrophilic
attack
protection of amino group of amino
acids through nucleophilic attack
for bringing about coupling
between the carboxyl and amino
groups to lorm peptide linkage

(B)

(S

(D)

A hydrocarbon of malecular formula
E?Hﬁ‘ on catalytic hydrogenation
over platinum gives C.H, ., The parant
hydrocarbon forms addition product
with bromine and also it reacts with
[Ag{NH4).]OH to give a precipitate.
Then, the parent hydrocarbon [s

(A) (CH3,C-CH,-C = CH

(B) CHy=CH=CH-CH=CH-CH;-CHy
{C) CHy=-CHy—C =C - CH {CHyj,
{D) CH;—CH=CH-CHy;-CH=CH-CHg
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ou-D TR A [ -D R T
= TRl ATl

(A) TFITHEEE (Enantiomers)

(B) UfPE (Epimers)

(C) - TAT (Anomers)

(D) EWTHEI (Diastereomers)

“sryofroft wrEeE | & ARG FE A A

R TR R ?

. o AT W e e 8
FIHETA B B

b, I T F A S S
Bklmole EFHE

c. TR e 8 I s e
e sl B

d, T SN TEEE ST 8 S
foa s wEa

g d 8wl s g

(A) a #fF b

B) ab 3N ¢

(C) bae

(D) ac 3fnd

SEE I ieTE AIeeTI S |

STe B, i athfEe

(A) T IERE I G T AT =R

THIE

% 55 g 19 & = & A e

fEmetasd 2

) Fa R AT 1 I g

ErTE kG

(D) Wi 8

(B)

\C)
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mfafyfes s feafa 5 ok g
Ereet fufda g e g

(A) CO, N TR e 2 & =
i =57E O - TTe

CCl, el | 3 = o w6 -
I

el ° CHCl, 3l 18 1 915-

HITHIA

(A), (B} 38 (C) | i iE FTE off waeh

(8]
(C)

()

UqeTss dvean | 2, 4 AT e
I S P 36 o T o ©

(A) SR 3 = T e EE
F T (e T SR 3 2T
a7e o SFEE T o T
TR SN A AE F A
UT2IEE HHE T o o 4
ETE |

(8]
{C}

(D)

CyH yp SHTUTHET 773 1 O BRI T
e % I S EHEEHET |
ﬁm%ﬂ?mﬁlmmﬁm
% wa sfafE I w2 i
[Ag(NHg),JOH & AtafEa F1 qa=
SFHT g1 2 | T, S SEEEE

(A} (CHglsC-CH,-C = CH

(B) CHy—CH=CH-CH=CH~CH,~CHy
(C) GHy—CHy~C =C ~CH (CHak
(D). CHy—CH=CH-CH,~CH=CH-CH,




122,

s |

T .y

123

124.

The absolute configuration of the
asymmetric centres present in the
following optically active moleculs is

CaHs

OH - r.':1 -H

i Gy =H
S,

(A) 15, 2R
(8) 1R, 2R

(C) 15,25
(D) 1R, 25
4
Amaongst the hetarocycles, viz. pyndine,
piperidine, pyrrole and quinoline, the
least basic compound is
(A} Piperidine
(B} Pyrrole
(C) Pyridine
(D) Quinacline

The most convenient method to obtain

4-nitropyridine starting from pyridine,

s 1o

(A} nitrate pyridine with fuming nitric
acid

(B) react pyridine with a mixture of
concentrated nitric acid and
sulphuric acid

(C) treat pyridine with sodamide
followed by oxidation with Crly

(D) convert pyndine o
pyridine-N-oxide and then

nitrating it by nitric acid
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125, Which of the following statemants

regarding tha species 'methylene’ are

correct 7

a Methylene is formed by the
photolysis of diazomethane

b,  Methylene can exist in two
differant forms, |.e. the singlet

and triplet states

¢ Singlet methylene is a di-radical

and is more stable than the triplet

state

d. When methylene Is generatad in
the presence of alkenes
opropanes are formed

Select the correct answer from the

codes given balow |

(A) a bande (B)
{C) a,bandd (D} & candd

candd

The catalyst used for convening
rapylena to polypropylene by

iggler method is
(A) TiCly + CHyMgI

(B) TiCly+ cjﬂcr@]:,u

(C) ﬂchn:: Y
(D) (CHgTI+ Ly

Choase the correct statements from

the following :

a. The carbon-magnesium bond of
the Gﬁﬂnard reagent is covalent,

bt hi

ly polar, carbon being

slightly positive relative 1o
electronegative magnesium
b. The Grignard reagr_laﬂl undergoes

reaction with aldehydes and
ketones, via nucleophilic addition

ydaes and

c. The reaction of carboxylic asters
with Grignard reagents is an
excellent methad of prepanng

tertiary alcohols

4, Grignard synthesis is imporiant as
it permits formation of new carbon-

axygen bond

Salect the cormect anawer from fhe

codes given below
{A) abandc
(C) bandc

(B}
(L)

a, bandd

gandd
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13,

124,

= wemelta whea o A foim s |
gl w1 e T 2

EBHB
I
OH- Gy
|
Cl= & ~H

|
CHy

(A) 15, 2R
(C) 15,28

Fefttfer famras 4 | = i
TERE 4

(A) TEUIETEA (Piperidine)

(B) T (Pyrrole)

(C) WHEHIETEA (Pyriding)

(D) FHIE (Quinoline)

TEEIE H SR Fd Y

4Tz rarafiane o & o mas
T A

(A) TRZE TEEEA F AEEE W &
T | AR F]

o o fom = mafiema 3 sfufen
FIA

e § R F gaE
3R AT CrO, | ST

(B} 1R, 2R
{0} 1R, 25

[B)

(€)

‘-TIEiﬁEET-[EI-TI qmﬁms:_—ﬂ—ﬁma
1 afis w i AR Rl e |

(D)

o IR AEAET
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‘Tufefa’ il & an s O & S

okl af

a. ER=iEdE & v a8 i
TR |

b. fafesimdr smmesadmm? - wra
A sl msay |

A Wﬁﬁﬁﬁ?ﬁtﬂT?ﬁHﬁ
feufs & siftes femeEm

d. R STehiE 5 sty | i
HAAT R, T AR S R

e ddsf st

(A) a;b &t ¢ (B) ¢ #% d

(C) & b M d (D) ac s d

T vl F diftels =1 Ranfes
4 afrEds % fow z7m= g

(A} TICl, + CH,Mg]

(B) TICI, + CHy(CH ; Li

(C) TIC, + (C,Hy)
{WMﬁmmm

ey i & ot e = = Sl
a  TIFIEH e R S e
BT 3 eifer o gkt w & =i
fergrvmer Frfiem % qe A
A AT T Bl
b. nEieErEe 3N F4H % A
Tereh i g i
it semT
. M s F o smEiEnfe
T il fufern == gt steieie
Al 2 e 2
d. AT Heer gE 8, W A
BT~ AT o 594 | g8 9=

3

a3
P gz o g o I g
(A) a b 3 c (B) ab s d
(C) b 3 c D) a A d
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129.
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As

Addition of fittle potassium iodide
accelerates the hydrolysis of primary
alkyl halides because of the fact that

(A) lodide lon is a powertul
nuclecphile as well as a good
leaving group

(B) Potassium jodide is soluble in
organic solvents

(C) lodide lon is a weak base and a
poor leaving group

(D} lodide ion is a strong base

A corugated enone exhibits an

ultraviolet absorption maximum at
245 nm for x — = " transition when the
spectrum is run in hexane as selvent.
If the solvent is changed 1o ethanol,
this absorption maximum will

(A
(B)
1)
(D)

remain unaffected
disappear

shift to longer wavelength
move to shorter wavelength

In order to synthesize phanylalaning
by Gabriel's phthalimide method, #
needs potassium phthalimide and an
esterof

(A)
(B)
i€
D)

3-phenylpropanoclc acid
phenylacetic acid
2-chlorophenylacetic acid

2.chlorg-3-phenylpropancic acid

| 131.

=30
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Which of the following synthesis
schames can be usad o obtain
m-bromoaniline 7

{A} EEHIIE (1) HNOy fH2B0 HTIJ- {2) Sn« HCI

[ ] _satio

{E] C‘EHH 1_“- E-"_-l- I'FEEra el lﬁ:l Hm.]-l- HEE[:I‘

[} -Deitt,
(C) CaHNH, Bry /Febiry
(D) GyHLCO0H Bry /FaBry [ ]

(1) SOC, and (2) NH; [ ]

Bry INalH

What is ‘C’ in the following reaction
schemsa 7

He = OF 11930 1eiFe90e g

UAH, g FBn o

(A) Ethylidine bromice
(B) Ethylane bromide
(C) 1, 1-Dibromoethane
(D) Ethyl bromide

The polymerization of 1, 3-butadiene
i give poly (butadiene) elastomer is
an example of

(A) 1, 2addition

(B) frans-1,4-addition

(C) cis-1. 4-addition

(D) trans-1, 2-addition
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108, TH e wR Hew f2eEs | 130 e 1 8 e wre e
smateres Bremd © meiEs el m-bromoaniline I T & 10
T F - 1 A o BLC i
(A) SITETEE Y SR & SR E (A) Gy, (11N037H;80, 3 (2) 5n + HC]
o T aFEE) S A e
ol [ ] Br f'lHjﬂ >
. (B) T e | i SR e e
m% {E:I EEH il BTQJF'UE-I'? 1_"'"5_2] i‘l‘-“'l-':‘.l' HIE-{E:
(C) SEEEE % A T e [ ] _HarPt
Fﬁ _*ﬁﬁ (C) CyHNH, B /FeBoy
(D) TSRS ¥ W TEE 4T

(D) GgH.CooH _ BrpfFeBsy [ ]
108, FH w964 H FIEH ﬁam?ﬁrraqr et ARG )
=T #, n‘—na:‘ FEEHI o T, A - ——
w19 weaiiys 245 nm 93 AT Bry / HaOH
e ania E | aft RemEs e
T ] T 8, T T S S 132. Fm s g C st ?
(&) STHETE B MG o O HES0LI8IH:S0, g
(B) T EM
(C) Hﬁmﬁﬁﬁﬁﬁﬁﬁﬂm i, S - RBs o
(D) Bl T | aas = PR ——
] ] B) EufEawmEs A
: 130, TalEE F phthalimide TE@ & 8) X .
. o (C) 1,1-EZEamEda
phenﬂalan_ineﬁfﬁ?éwﬁlﬂﬂﬂim D) A
& A gl & greian Sa <
133, 1, 3-buladisne =l Eﬂiﬁ}%ﬂmﬂ. .
phthalimide 31 58 321 % forg 8 i o |
(A} 3-phenylpropanaic 371 =Em R |
(B) phenylacetic #% (A) 1, 23R
; (B) trans-1,4-38FH
(C) 2-chlorophenylacetic =1 (C) cis, 43T
| (D)  2-chloro-3-phenylpropanoic 35 (D) ;_,anm__g-;,fgmq
A= 1.
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135,
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137.

.

In the following reaction, the formula of
the first compound, i.e. C;H O is

C4Hy0 Cudidation by KaCrOy ;'H_‘;El:]i

(A} CH,CH,CH,OH
(8] CH,OCH,CH,
(C) CHLCH(OH)CH,
(D} CHyCH,CHO

The ionic radii of K*, Ca®*, CI and
5% lons decrease in the following
ander:

(A) CI-> 8% > K*= Ca?*
(B] K*>Ca*>Cl->8%
(C) ®a*s K+ = Ol 82-
(D) S5 = CI > K*> Ca?*

Which of the following are not
acceptable sets of guantum numbers
for an electron in an atom 7

a n=3,Il=0m=1m=-4%

b. H=3.|!=1.|1"I‘II.=—1,I'I'I£=—1."'E'

o, n=3 =2 m=0m=-l2

d, n=3I=1,m=2m=%
Select the correct answars from the
codes given below :
(A} aandb
(C)}) aandc

(B) aandd
(D) bandec

wWhich one among the follcwing
complaxes exhibits optical isomerism 7
(the ligand ‘en’ means HNCH,CHoNH.)

(A} cis-[Co{NH ), CL,|Cl
(B) cis-{Co{en),Cl.iCl

(C}  trans-{CofNH, ), Cl,]CH
(D) trans-[Colen),Ci;|Cl
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In which of the following are the

chemical farmula and its name

migmatched 7

(A} Nay[NI(EDTA} : Sodium
ethylenediaminetetra-
acetonickal (1)

(B) KIPH{NH,GI] : Polassium
amminepentachloroplatinate (IV)

(C) [AgICN},] : Dicyanoargentate
(I} ion

(D) K,4[CriGo04),): Potassium

trioxatatochromate {111}

Which one of the following statements
15 correct ?

(A} The [NI{GN},J*"ion has tetrahedral
geomelry and is dlamagnetic
Tha [NI(CN)J* ion has &
square-planar geometry and is
diamagnetic

The [MI(CN),F len has a
square-planar geometry and is
paramagnetic

The [Cu{NH,),[*~ ion has a
tetrahedral geometry and is
diamagnelic

(B)
(C)

{D}

The four quantum numbers, viz. n, /,
m,, and m, of the valence electron of
potassium, respectively are

(A) 4,11, % (B) 4,1,0,%
(C) 4,40 % (D} 4,00 %

Identify which of the following system
are ispalectronic.

a CN-, CO* NO

b. CN-, CO, NO*

¢ F,",OF &

d. OH-, HF, NH,
oelect the comrrect answer from thea
oodes given below :
(A} a bandc (B)
(C) a,candd (D)

bh.candd
a bhandd




T

134, C,H,O %8 Tewt Fifirs & Frer srfrisen

AR
pebsl KuCraOy {Ha S0
EGHBD e mnl:r,r_ slafally (Hy ) ﬂ

a0 T2 INTH ey,

(A) CHSCH.CH,OH
(B) CH4OCH,CH,
(C) CH,CHIOH)CH,
(D) CH,CH,CHO

K* CaZ+, G i 82 i sy Fmmd
o oft 3 = B

(&) CI"> 52> K+= Ca™

(B) K*=>0Ca% >Cl~> 8%

(C] Ca?*zK*:>Ci =5

(D) 82> CI"= K+> Ca?*

136, T BE R s e e da
FETUEE A o Al Y g AE A 7
A 1'|=3..'='3,!‘I"I|.=‘I.r11$=-'.'-ﬁ
b. n=3I=1m=-1m,=-1
c. n=3.1=2m=0m,=-%
d n=3/=1m=2m=%

135.

gz A Eag S AT

(&) a 3 b (B) a 3 d

(C) a 3N ¢ (D) b 3t ¢
1a7. Ta=r fufie 08 W T | THEEEE

e 7

(3f1: ‘an’ 1 IAEE &

HoNCH,CHoNH,)

(A) eis-[ColNH;),CilCl
(B) cis-[Cofen),ClL;]C|

(C)}  trans{CoiNH,),CLICI
(D) trans-{Cofen),Cl,ICI

w— =

JDD-18/PGT-CHEM/X-14

138, T # 91 forond Tt 3 ol 3Em

T AN B R T

(&) Nag[Ni(EDTA) : Sodium
athylenediaminstetra-
acetonickel (1)

(B) KIFt{NH,Clg] : Potassium
amminepentachioroplatinate (IV)

{C) [Ag(CN),I" : Dicyanoargeniate
{1} lan

(D) K4{Cr{C,0,)5]: Potassium
tricxalatochromate (I}

Fedasm A ade 7

(&) [MI{CN)J?~ &7 =i Saehcha
FaTitt w3 T uin-gEnE
G

(B) [NI{CN),J— 3T= =1 7] -HHme
warted! B # 5 T8 i gE
B e

(C)  [NI(CN) = = =1 =i -Fsaw
war el el 2 2w S
Gk

(D) [CulNH,) 2~ ST = S

138,
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CAGHE

140, OV o R SeTEH o ST s
4, 4, m, 30 m FE
(A) 4,1,1.% (B) 4,1,0,%
(C) 4,4.0.% (D) 4,0,0,%

141, = § @ S vgdl AEEEeEA €,
TR TEETHY
a. ON-, CO* NO
b. CN-, CO, NO*
¢ FHOFR S
d. OH, HF, NH,
AT & i e g
(A} a b 3¢ (B) b,c 3K d
(C) ac 3 d D} &b a3t d

=33~




SO OO0 50

142,

143,

144,

145.

In the reaction

HNO, + Iy <+ HIO, + MDE +H:0,
stoichiometric number of moles of
HNO, and I, will respectively be
(A) 10and 2

{(B) 1and1

(C) 10and1

(D) 1and2

A mixture of NaCl, NaBr and K,Cr,0,
on heating with concentrated H,50,
In a dry test tube produces reddish
brown vapors consisting of

(A) CrO.Cl; + CrO,Br,

(B} QO;+Cr0,Br,

(C) CrOCl + Bry

(0) Br,+ClL,O

Generally, redox enzymas prefer Mn,
Fa, Coand Cuto Zn, Gaand Ca in
biologica! processes, because of the
fact that

(A) they have variable oxidation siatas
(B) delectrons are easily available for
the specific reactions in Mn, Fe, Co
and Cu

they possess low charge density
delectrons can be transferred over
a long distance in biomolecules

(C)
(D}

Which of the following compounds
has the electron-palr geometry as
trigonal occupied by lone palr of
alectrons 7

(A)  Aluminium chioride

(B8) Dichloro-diamino-platinum
(C)  Alkyl magnesium bromide
(D) Xenon difluoride

Latest Sarkari Jobs, Govt Exam Results,
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The refrigerants, wiz,
chloroflucrocarbons are of much
Brvironmental concam mainky
becausa

(A} they cause greenhouse effect

(B} they destroy the OH radical
generated phota-chemically from
water vapor which Is an effective
scavenger for polluting gases

like CO, NO,, H.S

thay generate toxic COCI, and
COF, by reacting with atmospheric
O, in a photechamical process
they photochemically generate C
atoms which catalytically destroy
the stratospheric ozone

()

(D)

The correct sequence of = - accaptor
strength of the following ligands
naving p donor, is

(A) PFy< PR, (R =alkylaryl) < P(OR),
{R = alkylfaryl) < PCl,

(B) PCly<PFy< P(OR}, (R=alkylaryl)
< PR, (R =alkylaryl)

(C) PF3<PCL<P({OR), (R =alkylary!)
< PR, (A = alkyl/aryl)

(D) PR, (R =alkylfaryl) < P(OR),

(R = alkyl‘aryl) < FF, < PCl,

The asymmetry in the slectronic
absorption spectrum in the visible
region of [Ti{H,0).1* is caused by
(A} charge transfer

(B) £ e

(C) e—=1

(D) Jahn-Teller distortion
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142.

143.

144,

145,

afufsra ;
HNO5 +1; — HIO; + NO, + H;O
i HNO, 31 1, 511 & wiafmiics
:imﬁﬁl*ﬂ:!

(A) 1032 (B
(C) 1031 (o)

131
13K 2
TF WS 5 A § NaCl, NaBr 3R
K,Cr,0, 1 firsm g H,80, 4™
T R SR A - TR a3
EARIE M R

(A) CrO,Cly +CrO,Bry

(B) CrO4+CrO.Br,

{C) CrOLCl, + Br,

(D} Bry +“'{:I2'E-L

0 S & W S SEw
sifufFaTsiid T=a0 Tany Mn, Fe, Co
gfl’._ﬂuﬁa:. Ga 3N CaF FHiT@
on R
(&) TR e TTEE (e afE
LAGIE

(B) Mn, Fa, Co 3t Cu s = ffm=
syfirfaa = fog d wereea Tl
TIET B £
-y wie gias d g
ARSI LR Tk IR E
TR e g & B |
St B S e serem
T A g A

(A) ieambem g

(B) SR -EEE -

(C)  weles Gt wEEs

(D} STH SEwEINEE

(T}
=)

148,

147.

148
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TR 3 wefad 98 wEiEm
H R T, W I g

(A} 3 TR = IHEITH w1 FA

(B) 3 CO, NO,, H,S =i wgite e =1
T S e #Te W - T
o #1 Fes OH HETeh 1 719 54 8
3 W~ TS A H 3T
ST O, sififen %4 § =
COCl, 5 COF, 38 FMF I
B

F wEm-TrEEEE A E ol
] T A £ S EEeTH Ee A
1 A | AT

(C)

(D)

p & e e e o -
T FIEE FAE

(4) PFy< PRy (R=alylaryl) < POR),
(R = alkyllaryl) < PCl,

PCly < PFy < P(OR)5 (R = atkyl/aryl)
< PR, (R = alkyl/anyl)
PF3<FCly< P(OR); (R=alkylaryl)
< PR; (R = alkyVaryl)

PR, (R = alkyVaryl) < P(OR),

(R = alkyVaryl} < PF5 < PCl,

(B}
(C)

()

[Ti(Hs0)g)™ & fommd et @3 &
FrHaTe] e o ST ST
AT ETET

(A) TS T

B £se

C) &t

(D) FiA-Zen fEFR
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162.

A

It is observed thal with increase in

atomic number of lanthanides, thera

ts a decrease of lome radii. This Is

mainly due 1o increase in

(A) valency electrons

(B) electronagativity charactar

(C) atomic volume

(D} nuclear attraction for valence
efectrons leading to inward
shrinking of shell

The ortho form of dihydrogen contains

(&) nuclear spins which are opposed
o each other

(B) nuclel with one profon and ane
nautran

(C) nuclearspins which are aligned to

aach other

(D) Yuciei of one proton and two
neutrans

Baorax on heating strongly above its
melting point melts to a liquid, which
then solidifiss to a transparent mass
commonly known as borax bead, The
chemical constituents of the borax
bead Is

(&) sodium pyroborate

(B) a mixture of boric anhydnde and
borc acid

(C) amixture of sodium metaborate
and boric anhydride

(D) amixture of sodium metabolite and

sodium pyroborate

Flugring does not farm any polyhalide
as other halogens because

(A) it has maximum electronegativity
{B) it has low F-F bond energy of
about 150 kJ mal™'

it brings about maximum
coordination number in other
alemeants

of the ahsence of d-orbitals in the
valence shall of it

(C)

(D)
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In the extraction of Nickel by Mond's
process, the metal is oblainad by

(A) electrochemical reduction
(B) reduction by aluminium
{C) reduction by carbon

(D) themmal decomposition

Among the following oxidizing
agents, the decreasing order of thair
oxidizing strangth is given as

(#) S,0% >Cr0% >MnO;

(B) MnO; > Cr0? »5,08

(C) MnO; >85.07 >Cr,0}

(D) 8,05 >MnO; >Cr,05

Which of the following major reactions
are involved in the farmation of
metallic copper from iis sulphide ore
in the pyrometallurgical process 7
() cus +20, -+ Cu0+50,and
Cul+C — Cu +CO

CuS + 20, — Cus0, and Cus0,
+CuS -» 2Cu + 280,

CuS +30; —+ CuO + SO, and
CuQ + CO — Cu + CO,

CuS+ %DE — Cu0-+ 50, and
2Cu0 + CuS — 3Cu + 50,

(B]

(€

(B2

A 0.174 g sample of pyrolusile ors IS
heated with concentrated hydrochloric
acid, Whan the chlorine evolved s
passed through potassium lodide
solution, it liberatas 0.245 g of iodine
quantiaively, The purty of the pyrokusite
sample ks (Given ! atomic weight of
Mn =55.1 and that of | = 127 gmol™)
(A 40% (B) 60%

(C) 70% (D) 50%
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(A) HEEFA A
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(C)
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e

(C) HEEH TEEe SR T
TARISEIRE &1 HE

(D) WITEam HemRTEs 3 AT
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St FA T o0 0 T g TeTBeTes
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(A) T T s e e
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(B) 3% a0 150 ki mol~! T 3/
FEFraaand |
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(D) THS HEEF] F94 § d- i
FIATEMA
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ez i wiE B e et o whEm
A, ur ) s FEe s

(A} 8,05 >Cr0% =MnQ;
B) MnO; =Cr0f >8,05
(C) MnO; >S50 >Cr,0f
(0) S.,0F >MnO; >Cr,0f
T ST il | el & HEPhe

ST A STEA] Al A o e A
i T syt e 7

(A) CuS +§-1‘:]'E —» Cul + S'DEE-ﬁT.
CuD+C — Cu +C0O

(B) CuS +20, —» CusSQ, 3 Cuso,
+ OuS — 2Cu +250,

(C) CuS +30, -» CuO + SO, 3F
CuD + CO — Cu =+ CO,

(D) CuS+ 20, -5 Cu0+80,3M
20u0 + CuS —» 3Cu +50,

ﬁf@mﬁﬂﬁmnmgﬁwm
aqm*hﬂamzﬁmrmﬁmam
%1ﬁﬁ§mﬂﬁﬁ?ﬁﬁmm¢?
FeEnd gEi e $, = R 0.245g
%1 FEEE HEfET 1 w0
e dwe i e 8

(e e & & mTE Wi 2 Min % 55,1
3 1 %1 127 gmal™)
(A) 40%

(C) 70%

{B) 60%
(D) 50%
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Which of the following statements is

incorrect 7

(&) Liguid oxygen sticks 10 the poles
of magnet

(B) Silver perchiorate is soluble in
waler

{C) Many peroxides ara colorsd
because of the presence of

superoxides
(D} The atomic size of silver is less than
that of gold

Zeaolita is

(A) hydrated terric oxide

(B) hydrated sodium aluminium
silicate

(C) sodium hexametaphosphals

(D) godium tetraborate

Heawvy water is usually prepared Dy
tha
(A} reaction of deuterium with

ammaonium hydroxide

(B) prolonged multistage electrolysis
of 0.5 M scdium hydroxide solution
using nickel electrodes

({C) oxidation of deuterium with czone

(D) prolonged electrolysis of the
solution of a mixture of banum
hydroxide and sulphuric acid

Al second group metals dissolve in

liquid ammaonia to give a bright blue

colorad solution. This coloration is

due o

(A} a&change in the structure of the
amemonia

(B) d-dtransition of electrons

{C) an elactronic transition from a
lower ta a higher energy state of
the metal ion

(D) tha spactrum of the solvated

electrons
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In Buckminster-fullerana (C-60), all

carbon atoms are

(A) spi-hybridized with a square
antiprism shape

(B) sp-hybridized with a diamond-like
shape

(C) sp2-hybridized with a truncated
icosahedron shape

(D) sp® - hybridized with a graphite-iike .
snape

Which of the following statements is

incorract with regard to 'silicones’ ¥

(&) They are thermally stabla when
compared 1o other polymers

(B) They ara strangly water-repsllent,
are good efectrical insulators and
have nonsticking property

(C) They contain Si - C— 5ilinkages
with high bond energy

(D} They contain Si— 0 — Silinkages,
which possess high bord anergy

Xenon frioxide possesses a
(A) T-shaped structure

{B) sguare-pyramidal structure
(C) irreguiar tetrahedral structura
(D) trigonal pyramidal structure

When an excess ot SnCl, solution is
added rapidly to hot Hgélz solution,
the compound produced is

(A} Ha,Ch, (B} Sn

(C} Hg (D) [SnClg)*

Which of the following pair of
compounds precipitates readily
whean their aqueous sclutions are
mixed together 7

(A) AICL and ZnS0,

(B) FeSO, and BaCl,

(C} Cu(NO.), and NH,CI

(D} NaF and AgNQC.
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157, fdasrm s TERE 181, ﬁﬁwjﬁgﬁ[cﬁmﬁaﬁrm
(A) A ATHEa Ga g1 I (T8 =+ AT EE " :
(B) fasr e U gea . A F?;ﬁﬁﬁ AR & I 3
" . sp -HFMA
&) gwﬂmmm qq;t%gam (B) Sp‘?—"EEFIE'f: i Eﬁ‘%'m I F :
(D) = ) SRR () apP-eHite, iV P SR
B e (D) sp?—HHIG, THELF HHER H
162. foefiEl' Fana = da s
158. Pz as® T TR R 7 h "
1 (A) SewTio i AR (A) Wﬁ*ﬁ‘—fﬂ?ftaﬁmﬁawﬂﬂmu
rerdfer St wefivim fafer ki T
t ﬁ&ﬁﬁm (B) #mﬂﬁ—ﬁﬂﬂ%,ﬁﬁﬁgﬁ_ﬂﬁﬂ
o 30 ] B Tl 4 e
() w?m (C) I I T & @d Si-C—Si
L ﬁ?{ﬁm}mm'mm (D) mﬁ;ljn—ﬁmﬁgﬁ%é‘rm
(8) st e R B
i 163. BT ZRATERS A §
(B) i Sewrs 1 TAHE 0.5 M (R) T3 T HC
W FAEEETEE a0 = 55| I
e g Heerw (C) STEHTE SeRerh [ A
T » TRl T T
(C)  3iTEm & e s a ST ® )
(D) =i EEEEaEs i Herwfs e | 184, W= Hgﬂhmﬁﬁlﬂﬁ' SnCl,,
ﬁaﬁwﬁmﬁaﬂw =1 ZEW = 8 foemE T 2 79 0
i Teg= A 2 |
et e g 3 S (&) Hg.Cl (8) Sn
- ;mgﬂaﬂffﬁmgﬁa ] :raﬂrﬁ € Hg (D) [SnClgl™
& #laeimzaamea? 165. Fimt & Fr@ 9t w7 wEE
(A) ST T e FA0 & F9 I TS FET A
(B} Seimzi= 1 dod HEAT ﬁiﬁmmm%_?
(C) e el e T (A) AICI, ¥ ZnSQ,
eraaior da (B) FeSO, 3 BaCl,
T (C) Cu(NOg}, 31 NH,CI
) i e ey (D) NaF W AgNO,
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166. The molecular formula of inorganic 171.  While coagulaling a negatvealy
benzene ‘Borazola' is charged lyophobic colloid, a lesser
2 amount of AICI, is required when
Eg’ gHranH‘?‘ {{g; 32:" compared {0 ﬂ'lgt of NaCl because
I B33l e (A) the molecular mass of AICI, is
167. The basic structural unit present in higher than that of NaCl
'silicate’ minerals is . (B) AR is slightly smaller than Na*
(A) Si B) Sio- ion in 5!2& . .
4 {C} the lonic charge of AlF" is three
(C} SiO, (D) Sio% times that of Na*
(D) the mobility of AP* lon is more
168. Which of the following mixture will than that of Na*
function as a buffer solution ? —— - Farinel .
| & enthalpies of formation o
= gﬁ::ﬁaﬂn: s and MgO are —48.4 kJ and ~34.7 kJ,
' respectively. What is the enthalpy of
c. NaH,PO, + NaHPO, the reaction :
d. MH,CI + NH,CH 2Mg + 5i0, — 2MgQ + 517
Choaose the correct answer from the () -1362k (B) 21.16kJ
codes given below : (C) 13.80 kJ (D) -21.0k
(A} bandc (B) a,candd
(C} bandd (D} b,candd | 173. Theoptical density ofa 5.0 = 1079
solution of potassium permanganate
1698, The molar conductivity of HCI (aq) has been found fo be 1.5 at 670 nm
is greater than that of NaCl (aq). in 10 mm cell, Its molar extinction
This Is because coefficient will be
(A) molecular mass of HCI |5 less than (A) 0.75 1t mol? em™?
that of MaCl (B) 75 litmal~! em!
(B) HCI gives strong acidic solution {C) 300,00 it mol=! em™!
whereas NaCl gives a neutral (D) 30.00 it mot! cm™!
solution
() HCIis ionized to a greater extant 174.  Which of the following is incorrect
than MNaCl with regard to ‘Transition State
(D) mobility of H* ions is mofe than that Theory' of reactions 7
af Na* ians (A) The reactants are first converted
to an activated complex of higher
170, A 0.2 molar aqueous solution of a very energy
weak acid is 3.2% lonized at 298K, (B) The activated complex can be
\What is the approximate value of the isolated and characterized
dissociation constant of the acid in (G}  The activated complex remains in
waler at that temperatura 7 equilibrium with the reaclants
(A) 9.6=10° (B} 9.6« 1073 (D} The activated complex has a
(C) 125100 (D) 2.0= 10 transiant existence
A <50
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167.

168,
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170,

A A anEE g
(&) BH40, (B) BgHg
(C) BaNgHg (D} BeHy,
Tirfeerere @it T BT TR U B 2
(A) Si (B) siof
(C) SiO, (D) sioi-

o= 1 @ Fem s s T
FEFAMET

a NaCl+ NaOH

b, W + 1 3

¢ MNaH,PO, + NaHPO,

d NH,Cl + NH,OH

ﬁm@ﬁﬁfﬁmqﬁm
(&) bae (B) ac3md
€y bakd () b, c3Rd

HC! {ag) %1 TTH-HF (4

STl MaCl (ag) B st eidi 2 |

TET FM B

(8) HCI =T 3 3539E Nall =
FEAT H BT

(B) HCI #1a sl zEw & @ s
Na(C| 5T & JETE ZEm

(C) HCIEE NaCl # a7firs o1 7 a1
EAT 1

(D) H* 3t &1 Tiagiier Na® FEa
et & st gt @

288 K T U= WE ¥l g5 3 W0 0.2

Hiet, F= 2157 3.2% AE B R |
FEANHA W 6 § 35 F A

oo fEmm s d 7
(A 86 x 1073 (B] 9.6x= 102
(Cy TRa 1= (D) 2.0x 10

7.

172,

173,

174.

=41=-
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w4 e W wendts SemE

v fo e B, 5 NaCl < g 1

AICH, %1 1 WTH1 | STaseal Tedl 7,

LRl

(A) AICI, T HTE FEIEH NaCl &
ST FosT | e

(B) STRRH AP T Na* w1 8 g
el

(C) AN =1 et =T Na* 5 3 57
adnd

(D) AP+ 3RE =5 fesfiem Na* ams
1 ferafiern @ afes 2

Si0., 3 MgO % = § w3 awefl

Ureet (i 39) FEE - 48.4 kd

I —34.7 k) | = i e

TR

2Mg + SI0, — 2MgO + Si 7

(A} —=13.62kl B) 21.16kd
{(S) 13.60kJ D) -21.0kdJ
10mm ﬁaﬁﬂmﬂﬁmq{ﬁ?ﬁz =

5.0 » 107 M 21591 H1 TRETE T4
670 m W 1.5 TET 4T | 36 e
(A) 0.75 lit mol-! em!

(B) 75 Iitmat em

(C) 300.00lit mat! om!

(D) 30.00 lit mot1 cm!

e e o (2 w2

st s g o g a5t

e T § 7

(A) TR = 5 352 T & 3o
el 7 =5en = 8

(B) et Rl = e 3 s R
EIEE T

(C) v * Hra eafi o A
e R

(D) Friim o s s g

——— —
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179,

As

Consider a spactral line resulting from
the transition of electrons fromn =2
ton =1, In species glven below, The
shortest wavelength is obtained by
(A) hydrogen atom

(B8) deuterium atom

(C) singly ionized halium

(D) doubly ionized lithium

According to Langmuir adsorption
isotherm, when the pressure of a gas

= very large, the extent of adoption is
(A) Independent of pressure

(B) directly proportional to pressure
(C) inversely proportional to pressure

(D) directly proporiional to the square
of the pressure

Exagtly 2.0 gof a solute A is
distributed between 100.0 mL of watar
and 5.0 mL of CCl,. I the equilibrium
amount of A in the agueous layer is
0.5 g, the parfition coefficient of A
between CCl, and water layer is

{A) 43 (B) 40

(C) &0 (D) 80

At what temperature will oxygen
molecules (molecular weight = 32)
have the same kinetic energy as
helium atems (atomic weight = 4) at

320K 7

(A) 40K (B) 160K
(C) 320K (D) B40 K
An agueous solufion of electrolyte,
Ag.80, was electrolyzed in a call
having platinum elecirodes till 1.6 g
of oxygen was liberated at the anode,
What was the mass of silver
deposited al the cathode 7

(A} D8g (B) 108.8
(C) 1849 (D) 21.8g

180. The approximate pH of a solution
formed by mixing equal volumes of
solutionof 0.1 M sodium propenocate
and 0.1 M propanoic acid (the
dissociation constant of propanoic
acid = 1.3 » 1075 will be
(A} 152 (B)
(C) 489 (D)

3.62
5.52

181. The maximum number of triple points
occurring in the one-component
sulphur system is
(A) 1

(C) 3

B} 2
(D) 4

182. The amfof the cell : H,(1 atm),

Pt H* (a=X) ||H* (a=1) | Ha (1 atm)
Pt, at 25°Cis 0.59 V. The pH of tha
solution s
(A) 1

(C) 7

(B) 4
{0 10

183.  Which one of the following conditions
would cause the largest deviation
from the van der Waals equation for
real gasas 7

(A) High pressure and high
temperature

Low pressure and high
temperatura

Low pressure and low lemperature
High pressura and low
lemperature

(B)

(C)
(D)

184. A process is said to be ‘spontaneous’

al all temperature when

{A) aAH=0and AS=0
(B) AH=Dand AS>0
{C) AH=0and AS<0
D) AH<Oand AS<0

-42-
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175.

178.

177,

178

173.

e dmaFn=28n=1
i HEFAV o H0T ] Eiwge
Hifan | = w9 e B
(A) BTG T

(B). =i ]

(C) ke =T ffeas

(D) T s fefim

e 3 Srfirii HETY & IR, T4
i‘mﬁrma@#ﬁmﬁmhﬂmﬁm

EakiE|

(A) =T T R

(B) T HE FETe w8

(C) =% wiowirda; SHTIWH €T &
(D) 2 & e wE A g
w8 2.0 g e 100.0 mL 19 #7K
50ml Col datmami o A i
sl w8 & Heaed aE 0.5 g §, &
CCl, =R 79 & 14 A F1 T

T B
(A) 43 (B) 40
(C) &0 (D) &0

320 K w1 feferam wamy (qTAmETE
T = 4) 0 Tl T SATEEeA WA
(FEEE WE = 32) F e TETE W
LR 1

(A) 40K {(B) 180K
(C) 320K (D) 640K

T e g sy EE e
TrRE M FE d HE W 16g
AT e B o Ag,S0, I e
ST T v | SheirE T e i
=t 2 v e et 7

(A) 08y (B) 108.8
(C) 18g D) 21.6¢
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0.1 M wite sh 0.1 M OTEEE
e (Mg o7t w1 Fawe e 2
1.3 % 1075} ¥ T 7979 0@ & &4
ST T T pH TR B

(A} 1.52 (B) 362
(Cy 4.89 (D) 552

U - F2: W, Tgia § fivH femg et
wieafies gEm gl 2

Ay 1 | 2

(C) 3 o) 4

T F emf Hy(1 atm), Pt H* (a=X} ||
H* {a= 1) | Hy (1 atm) P, B 51 25°C
WemB050V|FETF pHE
(A) 1 (B) 4
(C) 7 (D) 10

s (Tae) e s e dmas§
TR A e T e e it
[EEGetakate s

(A) I3 =@ S0 =9 e

B) e Em drTm e

(c) A= ek = A

(D) e v 3ih A

vt AT A WEETER T e
SR, 9.

(A) AH<03% AS=D

(B) AH=0 3R AS=0

{C) AH=0 %R AS<0

(D) AH<O 3T AS<0
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186.
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184.
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Peplization is a process of 189,
(A) precipitation of colloidal particies
(B) purification of colloids
(C) protection of collcidal solution
(D) dispersing precipitates into
collowdal solution
The equivalent weight of anhydrous
sodium carbonate when its solution
i titrated against hydrochloric acid in
presence of phenolphthalein as
ndicator, is 190.
(A) 53
(B) 28.5
(C) 213
() Y108
A sample of sulphuric acid with
density 1.8 g mL~" is 80% by weight.
What is the volume of the acid that 191
has to be used to make one litre of
0-2 M sulphuric acid 7
(A) 16mL
(B) 10mL
(C) 18mL
(D} 12mL
In which of the following processes | 192
does the entropy decrease 7
(A) The dissolution of potassium
chiloride in water
(B) The evaporation of benzene
{C) When a dozen of glass beakers
are taken out of a small bag and
dropped on the ground
(D) The conversion of gaseous carbon
dioxide to dry ice
e
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K, for the equilibrium :

Alg) + B {g) « 2C (g), is 3.0 moles
at 400 K. In an experiment ‘a’ mole
of A is mixed with 3molesof Bin a
one liter vessel. At equilibrium,

3 moles of C is formed. Then, the
value of ‘a’ will be

(A) 3.5 moles
(B} 4.5 moles
{C) 9.5 moles
(D) 2.5 moles

When the initial concentration of the
reactants is increased by fourfold, the
rate bacomes eight times its initial
value. Then, the orderof the reaction is
(A) 15
(B) 20
(G} 35
(D) 25

in‘a Hydrogen-Oxygen fuel cell,

{A) the overall cell reaction is
2H,(g) + Olg) — 2 H,0 ()

(B] the ovarall cell reaction iz
2H,0 (1) - 2 H, (g) + O, (g)

(C) the cell voltageis 2.0 V

(D} chemical energy can be stored

Consider a call with cell reaction :
Mais) + Cu* (ag) — Cu(s) + Mc?* (aq).
If the standard alectrode (reduction)
potential of Mg®*(aq) /Mg (s) and
CuP*{an)Cu (s) are—2.37 and +0.34 V
respectively, than the standard emf of
the cell in V is

(&) +2.71

(B} —2.71

(C} —2.03

(D) +2.03
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185, TFET w8 189, 400KTA (g)+ B (g) «» 2C (g) Haemn
FK. 2 3,09 | UF TiemH AS g

(A) TRIETEETE FOT ST e s A el L
(B) TR i 1 ﬁmmzﬁﬁm;ﬂ;
(C) FIETHEE ZE% &1 50 TR |
(D) FIETIE EEH arE i T @' F G E
&0 (A) 354 (B) 457
(C) 8.5% (D) 251E

186, FATerafer i IuFeaf St ae e g i St e ) s s

THETES I AIEdq FEHZ & 2= &1 i :
i i B A A
6 b3 st o o ﬂ: 1ﬁ1ﬁn | Ta ¥, i svfi 2
& AT U R gpi

(B) 2.0
(A) 53 % (B) 26.5 {C) 35
(C) 213 D) 1086 D) 25

167, 1.8 gmL-" wies et werwior sy | 100 Rl -~ Twee 36 e 6

T, MIH 90% 2 1 0.2 M 31 UF w1 (A) #wm He saPsTER B .

Tl e T & e s m EeEE 2 H, (g) + Oafg) —» 2H,01()) i

3 % wrn e e =i (B) HHE&H s

(A) 16mL (B) 10mL 2H.0() — 2H, (g) + 0, (g) |

(€ 18mL (0} 12mL (C) HE=AeETE 20V L
J 4 ) - THEEF FH = T

186, e o | e vl o = S |

| (FeFm-Am) SO EE £ 7 192, THEHe SN Hw s HifE .
K (A) TIETEM FeiiEs 1 9H § eaa Mf!i5}+ﬂlg+fﬁq}—'cuf5}+mf*{ﬁq}

(B} st & At ﬁmf’{m{?]mcﬁwm{ﬂ}

Lﬁq.'ﬂ' I_.\_-EF ¥ A Y =i 4+ L, ¥4 n L
) :ﬁ TRCHIRN i omi &
(D} ﬁﬂ?fﬂ:zﬂ.mmﬁﬁm (A) +271V 8y -2.71v

(C) -2.03V D) +2.03V
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184

195,

196

The osmaotic pressure exerted by
equimaolar solutions of barium chlorida,
sodium chloride and sucrose will be In
the ordar of

{A) Scdium chloride » Sucrose >
Barium chlorida

Sodiurn chlaride > Barium chioride
> Sucrose

Barium chionde = Sodium chloride
= SUcrose

Sucrose = Sodium chioride =
ganum chloride

B)
{C)

(D)

If & compound undergoes
letramerization in a given solvent,
then its 1.@:1'1 Hoff factor, T 15

Ay 4.0

(B) 0125

(Cy 2.0

(D) 025

Nickel crystallizes in an ‘fec’ unit cell
with a cell-edge length of 3.524 A.
What will ba the radius of nickel atom 7
(A) 1.245 A
(B) 1.624 A
(C) 2.154 A

(D) 1426 A

In silver chloride, the silver ion is
displaced from its lattice points to an
intarshiial position. Such a defect In
the crystal is termed as

(A) Schotiky delect

(B} F-Canter

(C} Wadsley defect

(D} Franke! defect

197

198.

159,

200.

JDD-18/PGT-CHEM/X-14"

LUnder the similar conditions of
tempearature and prassure, two
gasas have the same number of
molecules, Then, they must

(A) be noble gases
(B) have equal volumes
{C) have a volume of 22.4 dm= each
(D) have equal number of atoms
Which one of the following statements
regarding ‘viscoaity' Is correct 7
(A} The viscosities of mast liquids
decrgase with increasing
tamperature, and those of gases
increasea with tamperature
{8} The viscosities of most liquids
Increase with temperaturs, and
those of gases decrease with
Increasing lemperature
(C) The viscosities of liquids as weil
8% gases incraase with increasa in
iemperaturs
{0} The viscosities of liquids as well
a5 gases decreasa with increase
In tamperature
Phosphorus shows an oxidation
nurmber of +3 in
(A) orthophosphorous acid
(B} orthophosphoric acid
(C) metaphosphoric acid
(D) pyrophosphoric acid
The pH of a hydrochlonic acid solution
is 2.0. Sufficient guantity ol water is
added to it to make the pH of the new
solution 5.0. The hydragen-ion
concentration is reduced to
(A) ten Toid
(B) seven fold
(G} hundred lald
(B}  thousand fold
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IMPORTANT INSTRUCTIONS TO CANDIDATES

FIeft=ami = o aeergol s

JDD-18/PGT-CHEM/X-Y4

:; ;IHE hﬂﬂ*;‘z':i:TEW PHH;E- 1. w48 TR |
oase chec g pages of the Booklel 5 u 2 .
carefilly, In case of any defect, please ask 12 58 T ] T S O | 5
“the Invigdator for replacement of the Bookial. w1E dp ¥, 1 P e F fa e
13. Directions : Each question or incomplate B . e STUET Yol S 2
statement is followed by four aliamative L SHETe AL WD W
suggested answers or completions. In each ST 3 A [ W R ) 9
casa, you are required to select the one that T 3yt el v = A T s o T
correctly answers tho question or completes # 3] 9 g TR T
the statement and blacken (@) appropriate & m 2% E i Lo
circle A, B, C or D by Bue/Black Bal-Point Pan IR MR W A, B, G Dt e 71
;galns'l t;m questlon concernaed in tha WP -2 ¥H 8 T (@) ' R
nswar-sheet. (For V.H. candidates mm WA TETER
corresponding circle will be blackened { ol
by the scribe) Feries Zm e Fam wm)
14, mﬁﬂmm mTEqpr:Lmﬂam 14, SEE U S ETe S T e e
aach gQuestion circle should - 3 Sy Eray 3
be shaded complelely without leaving any space o | g e et 9 i ¥ |
The cormacy method of shading is given below T e w1 o ol A0 BT R
Werirg Mrihad (IWong Mered | Wrong Mehod | Cavet tethod] WA w0 | e o || v Wi || W A
ceooloeoolocecoloecal losocloenoloscoloeco
The Candidate must mark his/her response SVl i S I T EE A
gfter careful considaration. mﬁﬁﬁmmfgﬂ [
15. There is only one correct answar 1o aach
15. WAE W W Hge TR
question. You should blacken (@) the circle - > i ?: I~k %
af the appropriate column, viz., A, B, Cor D. H e 'ﬂﬁt A, B, C W D % memm
If you blacken (@) more than cne circle EHH FIFE (@) w0 R | TG e el e
against any ane question, the answer will be o U | W ey @ =1 g N
treated as wrong, Il you wish to cancel any i % ST W O
answar, you should completely erase that black mmmmm V312 3T e e o
miark th the circle in the Answer-Shaet, and VR ST T 1 AT T 39 - g o e
then blacken the circl ised respo 32 2 B 3 3
o o % L Tl‘-‘ : 1: m":ﬂﬂl r nee. A d e P e d i s e
A machine will rss 2 coded Infermabon ¥ TR T 3
in the OMR Answer-Sheet. In case the T R (R T ]
:nru-rmatlun s incomplete/different from the 16, Huwssn - g e g =
rtormation given in the application form, the iy IR g P g v
candidature of such candidate will be treated il .. ot I'EFﬁ:I 7 {"-. : ,
Gl gy 4 ¥ gEa & o= 2, ) 0F arem{
17, Uee the space for rough work given In the st e g s |
Questlan Booklat enly and not on the 17. %1 w1 % o Se wa | fee g mm
Answer-Sheat. sl R
18, You are NOT required Lo mark your answers il |3‘.-|'I—‘311"¥|=-Fr‘=l1' sl
in this Booklet. All answers must be 18, 35 qivhan & W= SIT9E] T sifea I
indicated In the Answer-Shest only. w13 ¥ | T EE T-ufinn ﬁ'ﬁ |
Go through instructions given in Page No. 1 (Facing Page)
A
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